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A thick fleshy grows herizontally, having | 6

dry scale leaves, terminal
adventitious roots called as -
(A) Bulb (B) Corm
(C) Tuber (D) Rhizome
Tt oftet, oivder afrer armefg

buds,

o &, wEera ¥ -
(A) &g (B)
(C) =gz (D) Tr

Genes which code for a pair of contrasting
fraits are¢ known as -

(A) Alleles (B) Filials

(C) Hybrids (D} Progenies

;ﬁw i R s % whew 3, Fwad

(A) el
©) "

(B} frfram
(D) difeat

Sex determination in human beings is
based on method.

v iy # fim P

e & 7 e Al @
(A) XO
(Cy XX-XY

(B) xx
(D) zZw

A food chain always starts with -
(A) Excretion

(B) Digestion

(C} Photosynthesis

(D} Respiration

TE WE YEa wde e el & -
(A) st | -
(B) arastor §

(C) Ty wywwy &

(D} T8 |

What are the symptoms of Rk disease ?
(A) Fast heart rate

(B) Lack of energy

{C) Large abdomen

(D) All of these

Rh & & = @gor & 7 ;

(A) &1 gum iy (B) oot & il

(C) =37 Yz (D) & Tl
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The twe chains of 2 DNA molecule are
bound by their nitrogenous bases to each
other by a __. bond.

{A} Ionic (B) Covalent

(C) Sulphide (D) Hydrogen

AT o A awaw

;@M IO R B
?

(A) smafrs
(C) gwrmE

(B) wewigtors
(D) erEgrErT

The branch o scionce thal diali with i
envimonment i called -

(A) Toxonamy  (B) Ecology

(C) Genectics (D) Motphalapy
B & e o B sty vt
omegay fegr o £ G

(A) =i (B) miftafeg

() ot (D) oimaTe

Defipency of Red Mivod Cells |n the
body |2 knowm os -

{A) Glycemia

{8} Lipldemin

{C) Anemia

(D) Thrombocytopenia § - W
T ¥ T e wReET & 9w
B ¥ - '

(A} TeraERmaT

(B) fofuftfar

(C) ufiftrm

(D) i

Watson and Crick proposed the madel of

DNA in - ] 5
B T w4 Saa ¥ wew ay
vt faar - ] '
(A) 1953 % (B) 1963 ¥

(Cy 1973 ® (D) 1959 %
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The dark coloured amorphous substance
that is highly resistant to microbial action
and undergoes decomposition at an
extremely slow rate is called
(A) leachate (B) denritus
(Cy humus (D) decomposer

s Ty ot & vows T = fE
grriiee fem & fg o whirgd de

I o g awvveE g A T R ST
f_ wrmmr b

(A} Trrfae® . (B) aiE

© T (D) T

'GMO 15 -

(A) Genetically Mutant Organism
(B) Genetically Modern Organisi
(C) Genetically Modified Organism
(D) Genetically Mixed Organism
e, ¥ - _

(A) STAITE SEfERT o

(B) angaified gt s

(C) sgaitys woEim W

(D) amgaiiva Py s

Which of the follm-i/ing discase is caused
by a bacterium ?

(A) Polio (B) Haemophilia
(C) Typhoid (D} Filariasis

frer & F P Qo slian] &0 FAE?
(A) diferdt (BY S

(€ zioe (D) wrRfraig

Which hormone deficiency in the body
causes diabetes ?
(A) Thyroxine
(C) Adninnline

(B) Insulin. _
D} All of these

=
(A) aeRRE (B) TR

i & fow oy w1 w0 § Wy o |

14

16

17

(C) wizmier (D) T it
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Whe trap the maximum sun energy 7

(A) Grasses (B) Trees
(C) Algae (D) Animals
fswrd &0 oTtread g I W W RN
¥
(A) T (B) g
() daE (D) =g

Which of the following 15 the example of
physical change 7

{A) Tearing of paper

(B) Cutting of trees

{C) Freezing of water

{Dy All of the given options

forst F F = w1 Wi ahtad= & SR
F-X4

(A) BITS FT T

(B) ¥ @ W

(C) 9 H q% w0

D) & = o e

Starch - lodide paper is used for -

(A) detection of oxidising agent

(B) detection - of reducing agent

{C) detection of I,

(D) detection of starch

wd — AREEs @ & s e s
5=

(A) Pt aradiETs ¥ afmm § fag
(B) fodl avoms & afmm % fig
(€) L% ofert & fwg '

(D) = % afsm ¥ f

When CO, is passed through lime water,
lime water becomes

(A) milky (B) silvery

(C) shiny (Dy golden yellow
T & W A CO; A wT T,
ey @ W ¥ -

(A) ghr ' {B) Tt& ¥ T &
(C) T (D) ggw G
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When u eatalyst |s used in & chominad
reacuon, then -

(A) Amount of product pes affected
(H) Activation encigy pets sffected
() Amatst of substrate’ pets affeotsd
(D) Enthintpy af the reaction pets sifectsd
™ T it & st g
o ko -

(A) i B s g w

(B) wit= Fof st Wiy &

(C) wergz 3 wEn wwifm o &
(1) ;‘dﬁﬁwr o i wftm ok Sd

in Haber proicess, bondd bétween smmoriia
ahd iron surlbee weaken pnd hreak dizing
(A} adsoeption

{B) chemiparpiion

(C) both (A) and (B}

(i desarption

"Hﬁrhm sht wite {Fo) =t 7w d
= O T R ot o ¥ 7

(A) arfts

(H) TeEsmy

IC) (A) mm (B) o)

(1) gy

When we move from 1op o down in
Perlodic wble, sire of alkofi metaly -
(/) Increiaes

(B) Decreases

1C) No' change

(D} Either incresies gr decresszs

2 gt gon ¥ wwe G AR oA el
it ¥ ot e wgw = s -

(AY e ¥

{(B) = gen &

(C) i sftads =2 5w §

(0) = ot wwm % m @ whn B

‘_:HT+ 4
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1

Which s afl example of thermosenting
palymer ¥

14) Polythene (3). PYC

(C) Hakelite (D) Necprene

B W ST e Sgow w37

(A difdm (B) Tl
(C) ¥Wwirgz (D) franit
IPAC nome af

HC = C - CHy— CH = CHy s -
(A) Pent - 1 < en - 4 - yme
miﬁ:m-l-m-d—mg
(€) Pent - 2 - yoe - 4 - epe
(I} Nune of thes
'ﬂﬁ‘ﬁEHE‘EL‘—.CHg—CH=EHImT
IUPAC o % -

A= -1-8F-4. a5
Bz~ |- W - 4. 67
Cr9=-2-om1-4-&

) = J w5

Select the sromatle compauti,
uitfes ditw = oem @R

“( ) ()
& @
=
VAN
g

CFCs are chemieally viry sble becaie
they eontain no

(A) H (B) Br
(=l (D} Al of these
CFC Tamies ws & st wd) 97 1,
e Tt v & -

(A) 1 (B) Br

(c) c (L) ¥

[P0,

|

15 Chemicil formuls of Plaster of Paria i
YT oTE S W vewEes T -
(A) CaS0,.2HO

(B) (CaS0p. LH,0
(C) CaNO,),
(D) Cay(PO,);

%  Which of the following stalesnenty s
incomest for thee solution ol alkali metsls
in ammonis 7
{A) Colowr of the solution is blue
(B) THemagmetic in nEture
(C}) Couducts electricity
(I Alkall metals are soluble in ammonis
W S & i # f & g
e % & o W s ema K7

(A) R =1 4 i d b

{B) THls vhemaw ok

(C) fappmen vt =8 #

(D) T W awif F fade o0 ¥

17 "The substance whith on heiting will
chlorine, vields blesching powder is —

tA&) quickiime (D) siaked lime
(C) limestone (D) gypaiim
e v w5 9w ool s 8 9
wiffn aawe &w B P
(A) =i g (B) YW g
(C)y T (D) P
8 Major constitesnl of natusal gis L
(A} Ethane (B) Methane
(C) Butane (P} Propane
ke o e ww o -
(A) T (B) wem
(C) wpE= (D) Wi
23] =fu
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When soveral restotors of different valies

are combined in paralle]l md connected

acyoos o battery, then the curment Howing

m different resistors and poiential

difference -actoss thelr erldy,

£A] wnll be different for diffecent resiviom

(B) will be the sume for oll the resdstors

(07 the value of current will he 3mme b
potential differopee will b diiferen
aorosa differsl resiniors,

(D} the value of corent will be different
but polentinl difference will be same
for all the restsion

poenemtor and & DC generstor @5 that

{A) AC geterator has i electomapnit
while DC getwralis hias pérmanent
mag'mt.

(B) DC generator generates a higher
voltage. o

(C) AC generator generates a higher
veltage.

(D) AC generator bas slip rings while
DC generator has a commutator.

TE FETEE] 9 W o e ato s
H weeg et ¥
(A) TR 9T WA | U e g
i ¥ weEle e g whE ¥ s
Wl g B ¥ :
(B) B w0 whm s@at Sea I
B !
(C) weradt ara ofve Semay S
T B ‘
D) warEs wro S@fir § 9ff = iR
¥ owafr e gg e ¥
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If a 100 watts bulb 1s used for 10 hours, | 34

then the amount of consumed electricity

- will be -

(A) 100 Watts
(B) 100 Wans per hour

{C) 1000 Watts (1 KW

O | KWh (= | umit of electrcity)
af |00 wie W W 10 WE W N R
wr & @ fradl @ o @ o= k-
{A) 100 w7

(B) 100 @iz 9fy e

(C) 1000 Sz (1 KW)

(D) 1 KWh (= 1 5% frm)

A persom bs six fee! tnll, The minimum
higight of 4 vértical rhiror for viewing hia
entire length in the mimme iy -

(EVEN ] (R} 45 R

(Cy 75 A (D)1 8

ue =i o = de b wo
qn witfes ade F 2=7 & B ow sl
o A e v b —

{A) 6 Wiz (B) 4.5 Bz

ICh 75 dfle ()5 e

A far siphted person csn pend o ool kept
o wpal distenes by looking through o pin
bike, becase while looking through: the
pin hole

(A) The focal length of eye lens s

decrensed.

(B) The focal Jenpth of eve lens fs
imcreased,

(C) It acts ke convex lena

(D) I acts Hke conemve lens

wE 5O BiEn =i s o gl

w1 Tl wh B ot o g fe 4 8

uz wEy B wits ou e D 3= oor
(A) 3 T & Ses 0 w8 8 W
ki
(B) = & o wiwe T oo b
{f;:uqumﬂ:&ﬂ‘rmmmm
b : ;
(D);gqmm%ma%m%mm
|

23| wha

Work dome in camying a 2 Coulomb
- .-charge in a circular orbit of radius 3 m
~around a charge of 10 Coulomb is -
“T{A) Zero (B) 666 J
~{0) 15§ (D} 160 J
T 2 3O SR @ 10 gwe ey %
TR @ 3 W Bem % us gEe um
T a ¥ few owr e
(A} 9 (B) 6.66
(C) 15 mm (D) 160 v

357 In an ac electric motor, the direction of

current b the coil ehanges once i every-
(A} two ralations of the coil

(B) ohe rotation of the coil

(C) hall miation of the coil

13 one-fourth rotation of the eoil

et e P e 4,

¥ o W fm o ww e b
&
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38

Dry cell 15 a type of -
{A) primary celi

{B) secondary cell

{C) lead-acid cell

(D) nickel-ron cell
g% fw & G W o
() wrEml & ¥

(By ¥ahvsl 4w

(©) ¥=-dfe dw ¥
(D) Prpe-angts AW ¥

Charge on an ¢lectron is

TH G U S ¥ B
(A) + 1.6 = 10-1? Coulomb / .
(B) ~ 1.6 x 107!% Coutomb / i

(A) T T g (C) + 1.9 x 10716 Coulomb / T,
B s T ¥ ‘ (D} — 1.9 = 1071 Coulomb / g
_(C) e T ¥ _ A
(D) -t ‘ k 39 Tor using a convex lens zs magnifying
' 5 lens (magnifying glass), where should the

36 'The phenomenon i which ehanglng object be placed 7 b

magnetic ficld in s conduetir produces T

fridutied eusrent It tnother conductor, is {A? At the principal focus

“kalled - (B) Near to the lens .

(A) magnetic effect (C) At 72 (where f = focal tength of the
~. [B) electnc effect lens} B -

7 (C) thermoeleetry effect (D) Any where :
(D) electromagnetic inluction : -
0 Stz fret e qm s v dem) & &9 F T T & B g

wmﬂﬁqﬂmﬂ&ﬁam B we @ o 37 !

A Tt e ¥ o _

{A) TmhTg Ty (A) I wE T

[H) fgs wne (B) F79 = whm

(C) woREs mm (C)f/2‘1?(ﬁﬁf=%=ﬁ‘ﬁ$&@;%)

(D) Temareesia g D) && % :
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Which of the foliowing colours suffers
maximum deviation In a prism 7

(A) Yellow (B) Blue

(Cy Green (D) Orange

s fiom & Prafafaa & & S 1 @98
ot Foafwa v/m ¥ 7

(A) e (B) e

(€) &Q (B el

A light ray strikes a reflective plane
surface at an angle of 56% with the
surface. The angle of reflection will be
Wy B UH R yrEd Tea #9g W
HAE & WY 56° % HIM T MARE S
¥ ggEds @i & oW w

(A) 340 (B} 56°

(C) 68° (D) 90°

An object is first placed at a distance
24 con froe the lens and then arn & distange
of 16 e from the lens. The magnification
of the image formed is same in both the
cases. The focal length of the lens 1s -
{A) 22 cm (B) 18 cm

{C) 20 em (D) 8 em

UE g UEd UR o= d 24 34 & g
ut, ofre @& U= AW H 16 ¥ W
i b1 AT A RaRe ¥ e b
viatra w1 e e ¥ A B e

3R -
(A 22 ¥ (B) 18 &
(€) 20 & (D) 8 af
- potts are also known as COM
port. ’
(A) Parallel (B) Serial
(C) RJ-45 {D) RJ-11

_ T w wa (COM) W F W
g off W oS

Ay Taa

(B) Wfige

(C) RI-45 (aTTH.—45)

(D) RI-11 {emTs~11}
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Thie first Inclixn web browier developed
for Indtan uscry »

(MY Quibgle Chrome

(B Mozl

(C) Intermet Exploter

(D) Epic

Wit aadimsatat & o B oo
e 49 wRET -

{A) T &=

(B) i

() f=vie T
(T itss

Which ong i not & database managemeni
woftwarg 7

TR GE e e wiveday T8
k?

(A} Chracle (8 Prupl

(C) MySGL {11} M& Acccs

.___ttuglnlml.ndchjmumdmlnca_m
resolrees an the intemet
o v T (qgE) § 9 e
w1 dem ® 9w W ¥ Ry awwm
Em w0
{A) HTTP
(C) HIML

(8) URL,
(L) XML

— 15 8 low canth ebil satellic
canstellation for sasilite phone and Jow:
speed dap communications.

(A) Globalstar  (B) Meridian

(C) Bridgewny (D) Leosat
NG Wi O EW-Te a5 fi
geit o Pra) sur Iww T ¥ )
(A) Wi (B) ifeus

(C) Ry (D) Fasiriz

it

AR

IRS sefies smicliile ore wesd for -

{A) Farestry

(B) Education

(C) Femole sensing

g aaE. dww oamE ¥ B
Iy fism wmn B

(A) =ifwi

(1) Fwer

(C) §5T WaT

i

ig Kripwn as fother of lodios

SpISE programme
{A) Rama K. Sambha

(B) Vikram Ambalal Sursbhui

(D) G Madhavan Nair
W I Sl W W
we B

{A) T & O

(B T s o

(C) T 4

(D) #, s e

Full form of GAGAN (o s=tellite of

ISRO) ia -

(A) GIS Aided Geo Atgmented Network

(B) GIS Aided Geo Augmented
Nnvigation

(C) GPS Afded Geo Avgmenteod Network

(D) GPS  Added Gro Augmented
Riigalicn

T (T W um I & O wew -

(A ?;::f-wi wee firdt wafifa (amies)

(8) oo, ke P i (wifrrifez)

A
(Cy Hdigw. wds B geits (fnts)
Head

(D) . e faar suftfs (i)
Afarurt

[ RT.O.
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51 n wihich distder of Rajasthey ba the
Indraptailthn’ Indusirial Aren focated
(A Thaliwar
(B Kt
(C) Bundi
(D) Chitlorgath
e W e B 4 e sl
gy e 4 7
LA STTERE
(B) @t
(€) 48
(D) Ferefverm

51 Riujusthan [s the sole producar of
i the country.
(A) gold, silver and pranite
(B) nungston
(C): jasper. lead und rine and wollasorin
(TN nore of liese
:mm W qwwy IEEE
el
(A T, il it Bz
(8) T
(C) Hwry, iy af wwAm i
(T =% B v =f

53 What is the limit of investment inplan
and machiteties for & small enterprise 7
{A) T 25 lokh to T°5 crire
(B) T 10 takh to ¥ 2 crore
(€) T 5 takh to T 2 crore
T 2 lakk o T | grom
g IuEn & firg W= we i E faw
ot v W BT
(AIT 2590 § T 5 E0w
(B) T 107 ®T 2w
(C)TSsvw & T2E0E
(Dy T 29 3 T &
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I whieh hydro eleetricity. projees, the
Giorvertimant of Balantbmn has entesed 0
the parmership with neighbouring States?

(A Hhikra Mangn! Froject

{1 Chombal Projoct .

(C) Bess Projest

() AL of thy given options

i o Fegr e A T o
T gl v % oW weei & E7
(A) wwst A giEgm

(b wew sl

(C) =l

(D) i w1 wnh P

What b the main funéticn of Rajfasthan
Hajva Vidywt Uitpadan Nigam: Led. 7

{A) Development of power projects under
Siale suctar,

(B} Opertion and mamtenance of Stle
power sinions,

(C) Bath [A) &nd (0)

(19 Nether (A) nor (H)

e T fage geme P o

wen wd = k7

(4) wiwht &5 A sl ofgemel =
T W |

(B) grwfl wfer & ford W oW
frmrma o s w0

(C) (A) e (BY o

Dyg @A xfm

[ T
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Which of the [ollowing ruling dvnasty of
Rajusthan belong to the Yadava dyeasty?

(A} Rathore

(B) Sisodiya

(€) Kachhavwaha

(D) Hhaii

frerfoies 4 & wEEw W oS
TS, e TR 8 wewiea §
(A) e

(8) it

(C) o

(D) wdt

LULE S
i

Who was the founder of Ajmer City 7
(A) Arnorag

{B) Ajoyraj

(T} Ajaypal

(D) Prithvirgj |

ST S W W we w7
(A) =TT

() -srmg e

(©) s

(D) pEiTa W

Whith: one of the following bustle s
called ;. ‘the Maratho of the history of
Mewnt' by colonel Jenes Tod 2
(A) Batile of Haldighati

{B) Datile of Kumbholgnd

(C) Battle of Diver

(D) Banle of Gogunds

Wi # 2 7 e 78 fm ogE @
e & Foww @ e e b 7
(A) e W R

(8) F= W g

(©) &t = 5=

L e

54

61

Througth Which newspaper did Vijay Singh
Puthik pepularise: Bijplisn Pessan
Muvement in Indin 7

(A) Pramp (B) Kesani
() Matha (D) Young Indis
o s & an o Peagis ofes

Where was “Azad Morcht' conmituted 1o
conduct the Quit India Moveieny ?

(A) Udnipur {H) Blkaner

(C) Jodhpur (D) Jaipur

TG W) s & O g e
=l 1 A Wi gon W f

(A) Fmaqe  (B) WEET

{C) menge {12 e

Who was the Mahwraja of Jodhpur Stte
ot the tme of the Intsgntlon of the

prncely siafen of Hajesthan 7

(A) Ummed Singh

(B) Hanwant Singh

(C) Gaj Singh

() Vigny Singh

T W e & e b
SMEgT TEY W e WE o ?
(A) 9 Ris  (B) v fUw

© m iz () fom e

62 Which lmngusge of Rajasthan hus Mamih;

influese 7 ks
(A) Muryari  (B) Dumdbuei
(C) Mewari (1) Malwi

T W e A S T

wig § 7
(A) sl (B g
(C) Farit (1} et

[BTD,

63 Mfsich the comeet i =

{a) Neja
(k) Indond

(1) Bhil

: (2} Halbeliva
fe) Termhwli 3y Giresia

(dh Valar () Kamad

wh gl 5t e i -
(a) i1y dw

{t) woendt (2} =t
() dwerlt (3) P

(d) ‘Emr (4} w=EE

(AY () (1 (&) {23, te) (4], (9) (3)
(B (=) (23, (b) (3}, {€) (1), (d) (4)
(€. Ga) (3% (B} (), (e) @ (d) (1)
(D) (&) (4), (&) (1% (e) (30 (d) (2)

Erm;fikg:?min Peeth (sent) of
(A) At Kishangarh

(B) At Sslemabad

l{E‘I Al Salasay

(B} Ar Khednpa

Frend wE W e G el 87
(&) Prg A

(B) wémamy &

(€} ammET &

oy W

dheln, Jamela, Fecpalpatra, Agolyy are
the omuments of -

(A) Ear (B) Meck

(T) Hand (1) Finger

e, w, i, sEn e s
% amp § 7 '
(A) T

(C) =

(g T

() simeh

23] o 1

Date 12.08.2018, FirstPaper(Master)

i

L3

—— 15 0 traditional cmft of Jaipir
{A) Thews wittk

(B Woullen Khadi

(C) Fainmngs

(D} Blue Pollery

—— WO ® ogtunnE Geg b
(A) @ur =

B) w

() ifdm

(D) = Fieh

b which year 'R hs
izt _hlmnl.l_r chenie wiid

s § SEn e w5 5
oo =
(A) 1995
10 20032

(B) 1998
D) 2008

Which of the follovwing prégramimes w

launched fn Hic_l‘qlfpifgli wili: “rr;:

objective 1o link skill training programme

with emiployment 7

(A) Employment Linked Skill Training
Programmms

(B) Regular SE Training Programme

(C) Pradhenmantss Kausbial Vikay Yofane

(¥ None of these

Frefiits ¥ & d-m ey, S

ulimr S W e & s

& 3w A, w2012 F wniw fear

L

(A) W= fiww fwm 3P v

(B) ‘e fsw 3 e

(C) warmdt W e s

®) & F W il

. [ ET.0.
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70

23] e

Whial of the follewing is not true about
Multhyn Mantil Adarsk Gram Panchayat
Yojana' (MAGPY) 7

{A). it envisages integrated development
“of the selected village across multiple
‘areas.

(B) It aims instilling certain values such
s gender equality, dignity of women,
sogial justice, spirit of community
service ete.

(C) II. lays focus

of village community.

(D). It' promuites  agriculturm] mark'etingr

and credit extension for marginal

e W S T e % at |
HPmEdsTmEam Ay 2

(A) =R i TiE o e i
T @ wicweam @ ouf &
(B)meﬂjwﬁwmﬂ
Wi s, Wi o wfto,
s =T, wow S o oW

gl |

(C) " T ToETa S W s

Al Ties W op kS ¥

(D)= wve el & Ty it R
ST wiE StweE e = e A9
T

I which year fie Ruasthan Panctsyati
Raihot; (953 was amended 7

mwwm??r o affrm, 1953 B
e od & weifm fom mn oo ?
(A) 1982 (B) 1990

(C) 1994 (D) 2000

' 12

72

71

What is the expected preduction of pulses
in 2017-18 in Rajasthan 7

(A) 36.50 lakh tonnes

{B} 15.30 lakh tonnes

(C) 36,30 lakh tonnes

(D) 35.50 lakh tonnes

2017-18 & ToER H T B ST
s feEr ¥ 7 '

(A) 36,50 W@ =T

. (B) 35.30 W 2%

on community |
:participation and social mobilization

73

74

(C) 3630 M@ oA
(D) 35.50 W@ A

In which year Maharaja Shree Umaid

- Mills Ltd. was set up ?

wEE @ oie g T fae o i
oo P '
(A} 1939
Q) 1991

(B) 1971
(D) 2001

Integrated  ‘Watershed Maonagement
Progronme hie beey renumad Lo
(A) Pratbamuniri Keishi- Sinalal Yopeny
(B Mubbyamuntr Krishi Sinchai Yojuns
() Rajasthon Krishi Shhehol Yojeom
(1) ‘Rafyn Hrishi Sipchod Yojunn
AR WWEY WER WY W W
oiafds wor —— w0 P omn b
(A) warrrd i fied @@

(8) geeidh gy R g

(C) T 1;& fitmd =

() T Fin fa=d a9

Whea wai Drought Prone Arsa
Programme lnunched 7

i e b ST %9 Wit g
(A 1973-74 (R). 1984-E5
(C) 1996-97 () 20012002

[PTO

73

76

77

78

79

What was the ratio of financial share
between Centre and States in Desert
Dewlopment Progamme ¥

weEa (W W A R o T
& am 7 P st = s =0 owd
(A) 75 - 25 (B} 50 : 20

(<) 60 40 (T T0-: 30

Pk Bollweorm was in the news recently,
it ia harmiul for which of the fo]lowmg
crops ?

(A) Cotton (B Sk

{C) Mustard (1) Apple:

i steed w1 & 0wl 2o, 0 R
F & fem wew i Ty wifverow 7
(A) arg (B) g™

(C) et (D) &=

In Delhi, from 13t April, 2018 which of
the fellowing standard fer automoblles
was implemented ?

e W1 e, 2018%%@{&@7{—
W S HEMAEEeE % WU @n g 7
{A) BS-IV (B) BS-V
{C) BS-VI (D) BS-III

Indian Mission Aditya L-1 is related to

which of the following ?
(A} Sun (B} Meon !
{C) Mars (D) Jupiter « .-

ﬂﬂ?ﬁﬁﬁ{maﬂ&wL-lmmﬁn
Hafpgay ? .
(&) gt (B) www

() v () T

Indii's firat Bio-methane bosed His was
Inumched bywhich of the foflowing Indian

Company 7 .
{A) TATA (B) Mahindm
() Bajaj (D) Eicher

urte wr yedl de-fele i m o
en i &l @ g fEm o7
(A) T (B) wigmm
(©) T (D) ST

23] s
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80

81

82

For wholesale price index of Rajashtan,
which of the following is considered as
the base year 7

e omE g gems 5 e o
¥ ¥ fey omgw =4 wrm w87
(A) 1999-2000

{By 2004-2005

(Cy 2011-2012

(D) 2009-2G10

In which of the following case "Avika
Kavach Bima Yoina' is effective ?

(A) Unnatural death of sheep

(B) Damage tc wheat crop

(C) Accidental damage to vehicle

(D) Domestic loss due to fire .

Fra & § o & F “wfem o= 9
g wEE ¥ 7

(A) ¥ & oHTERS Ty

(B) W @ wEA & JoHEH

(C) aBF & TIET @y

(D) & ¥ w Jeen

By Central Board of Liripation and Power.
which of the followng stee's electricity
bésird s swandiyd the "Best Acling Power
Trormsmigsion Lhiliy' m 2018 7

(A) Meghalaya

(B} Punjab

(C) Himachal Pradesh

(D) Rajasthan

g el 5 o irli mu = A
5w T % Bge W w2018 Y ‘el
i T VT ZiRi g e
B 7

(A) #uEg

(B) Y=g

(C) Temmme WReT

(D) s

[PTO.
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In India, the first "Skill University” was

started 1n which one of the following |

states ?
(A) Rajasthan (B} Uttar Pradesh
(C) Punjab (D) Haryana

wia ¥ wau fige fayafema B A
u fow s A gF fem o 7

(A) TETEH (B) 39T T&HA

(C) T (D) wiamn

Rajasthan’s first Mega: Food Park was.

inaugurated in which of the following
districts 7 : S
(A) Alwar (B) Jaipur

{C) Udaipur (D) Ajmer

TEEAN % Ued AT EE TE F TGRS
et ¥ fpw B H few w7
(A) oWET (B). WG

(C) IR (D) aRT

"Bhairan Singh Shekhawit Antyidayn

Quarojjer Yojana! will provide loan of |
89

T o the chgible farmilics,
dr g W T W OF R
Casitll
(A) 50,000
(©) 2,00,000

(B) 1,00,000
(D) 1,50,000 -

Which artist oul of the following ariziz
of Rajssthan iz worling with designes
vessels made of clay 7

(A) Omprakosh Galay

(B) Devdan

(53 Kripal Singh Shekhawat

(DY) Bermt Ram: Sonl

fr d ¥ T W AR BT
fdl & ReomEnT aml & e W @ E?

{(A) SimwEl e -
®) me '
(C) FuTAiiE framEa

(D) &reH @

23} ma

14

87

88

90

(A) BeEE

Whick of the fellowing district of
Rajasthan has 'Peacock’ as the symboi of
the district ?

(A) Ajmer (B) Bhilwara
(Cy Dausa M) Hanumangark
P F & Towa ® wm-d fen W oale
Ol S A
(A) FIET (B) viiernet
(©) (D) eIHTTIS

What amount 1s given with the Ambedkar

‘Mahila Kalyan Purushkar ?

(A) T 1.0 Lakh

(B) T 1.5 Lakh

(C) T 51 Thousand

(D) ¥ 21 Thousand

ardEER Rw HEr [T § WY 4
W A A e ¥ 7

(A) T 1.0 1@ (B) T 1.5 @@

(© ¥ 51 zoe (D) T 21 ®4C

In which one of the following districts of
Rajasthon, the foundalion stone of

- "Devnerayan Panorama® was laid by the

Chiel Minkstor 7

(A} Bhilward () Ajmer

(C7 Dhitea {1 Bharatpsr
T W e F A e T o e
o “Eer S = fmeom B
7

(B) ST

(C) dmr- by 7@

Country's first 'digital archives' Is situated
in which city of Rajasthan 7

{A) Bikaner (B) Jaipur

(C) Jodhpur (13} Udaipur

wren w1 wun fifew s oeEe
% fm e A fma ¥ 7

(A) qER (B) YT

(C) wiegT (D) 3eagL

[PTO.
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93

94

-~ LA)

A dwa v suE &9 AT few 7

C (DY 26 sl 2013

As per Statistical Abstract of India 2007,
in hew many States/U.T.'s of India more
than 33% of forest areas were found ?

(A) 20 states (B} 15 states

(C)y 14 states (%) 18 states

AT & HzeE Tegee 2007 & SIgEn
WA W R (e TeEmTe R
R L i L s i
(A) 2007 F (B) 15 T A

(C) 14qmal 3 (B 1&gl g

When did ‘Muksndra Hills MNatioral Purk’
wus piven the ientity o) sinte'd  thind
Matiomn! Park by Covt. of Rajesithan 7
10 Agril, 2013

(B) 9 January, 2

(€} 14 Februssy, 2012

(D) 26 January, 2013

HEea o A5 o B TR &N

&) 10 @, 2013
(B) ¢ wwadl, 2012
(C) 14 it 2012

From which tree Kattha" is extracted ?
(A) Teak (B) Khejari

(C) Salar () Khair

we Teg gm ¥ R @ g7
(A) W (B) Wt

(C) - |wT (D) @t

Which of the following wilie fs second in

population in Rojosthan ss per 2011
cenius?

(&) Bhil (B Meenn

(C) Gamsia (13) Saharmm
T ¥ 2011 & w § sge
fﬂh e wEE % amar o fad
(A) A . (B) dm

(C) Tty () watmn

23] + 15
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Which one of the following cattle product
is main product of Rajasthan ?

(A) Meat (B} Milk

(C) Animal Skin (D):Egg

frefefes 9y e ¥ @ d T
TORYF & e 4y SR B 7

(A) de (7)) (B) 3™

(C) =T (D) sz

Technical report of ground water survey
of 1971 does not include which of the
following district in survey ?

(A) Barrﬁcr (B) Jaisalmer
(C) Udaipur (D) Jodhpur
-t ww @i 1971 F et T &

wE e T wy T Bem @ w69
Yol Remr mr ¥ 7

(A) TR () i
(C) ssaqy (D) eyt

At which plute Tres festival 1s celebrated
en 1#% September every year in Rajasthan?

(A) Kheidi Village. - JodHpur

(B) Keiladevi - Karauli

(C) Mandor - Jodhpxllr

(D) Kolayat - Bikaner _

TR i wiged |2 P w7 g
T g9 wEwEs o @ bl

(A) &1 T - wEgR

B) Fd - HEeA
(C) #ET — gz
(D) wremag — SE

[PTO.
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The maximum number of trees found
between the heipht of 250 to 450 m in
the southern part of the Rajasthan are -

{A) Teak (B) Salar

(C) Dhokda (D) Palash
TSREM & TR Wi ¥ 250 § 450
@ Ut i den ¥ I S A
g E - ‘
(A) A (B) gm®t

{C) drmEr

(D) Tems

Which type of dunes are found in |

Drishadvati river valley in Thar desert of
Rajasthan ?

(A) Longitudinal dunes

{B) Barchan dunes

(C) Parnbolic dines

(D) Suir sund dunes

T & g W d guadl aﬁ’t i
T 7 fiew wee % W @ [ fafem
LA £

(A) Y o1 yEErEdl 9y & W
(B) @M 9 W WY '

(C) WHfrs g = /I

(D) @ W W w

_Wﬁich is not an ore of Lead—;ihc_ ?
(A) Galena
(B) Calamine

' (C) Zincite -

(D) Hematite

Wa— w T B i =f€r L
Ay emr

(B) SeT

(C) iz

(D) ¥erdz

101

162

| 103

: (C) 60°

Consider the following pie chart to find
the expenditure on Indian Military if India
had a total expenditure of T 120 crores.

R T W o @ SeRRT 9 WeE g
m@#mmﬂ%waﬂ@ﬁw
7 120 0= & |

Others Military
—

Venture

" Interest on debt intérnational

E R EEE I

{A) T 66 crores / ®UT
(B) T 70.8 crores / W
(C) T 54 crores / &R
(D) T 72 crores / ®UE

What is the angle of elevation qf the sun
when the length of shadow of a vertical
pole is equal to its height ?
qd 1 IwEE w9 ¥ W U su]
Y P owEE W W w6
TEL R 7
(A) 30° - (B) 45°
(D) 75°

Ifsin24= cos(AwlS") then the value
of 4 is - .
i sin24 =c'os(A—18°).E‘{ T A F
a1 ¥ -
(A) 18°
(C} 5a°

B 6
(D) 72°

[PT.O.
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1635

106
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23] wfn

If the diameter of a circle is 8 m, which
iength of arc intercepts a central angle of
45° at the centre ?

ait T g9 B w8 AL ¥, w9 few
TERE & 99 g g1 45° &0 S G
wxa § 7

(A) T my/,
(Cy 3mm/A.

(B 27 m /.
(D) 47 m/

In a data, 10 numbers arranged in
ascending order. If the 7% abservation

from the beginning is increased by 4, then -

the median increase by

wF Afed ¥ 10 dewet & e W
A=y a7
wam A 4 o gfs W T b o aie

Agset-

(A (B) 4

(C). (D) 5

The iength of the shadow of a vertical

tower on level ground increase by 10 m,
when the angle of elevation of the sun
change from 45° to 30°. The height of
the tower is -

T Fefere AT @ BT WEaw feH 9T
10 . g Wi ¥ o g & o= B
45° % 30° O war ¥ | wav o Sa
-

(A) 5(3-1) m /7

(B) 13 m /4

5
(o} B /A
() 5(1/§+1) m /¥

The value of

cos0®cosl®cos2e...... cosl100° is -
cos0°cosl™eos2°...... cosI00° =
o9 ¥ -
{A) O (B} 1

i
<) ) (D) oo

Déte 12.08.2018, Fir-étPaper(IVIaster)
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In a town number of materrial death is
50 in a year. If number of infants bom
in this year was 500, then maternal
mortality rate per 1,00,000 is
e of ™ =9 ¥ ug gy @ den
50% | afy 5w o = Ryt @ e
500 i, Tt g gg T i 1,00,000 ¥
(A) 1000 (B} 10,000
(C) 10,00,000 (D) 90,000

For the following data, the mean deviation
from median is

Prafafas oieel & foo migesr & wea
o & -

x[2]6]10]14]18
fl4l6]8 15

(B) 3.68
@) 9.2

(A) 0
(C) 3.84

The value of
sin?1°+sin%3° +sin5°+ ...
+5in?89° is -

sin?1° +sin?3° +sin?5° +
+s5in®89° @ W ¥ -

(A) 0
© 23

I
(B 225
(D) 45

A oylindrical vessel of base mdius 20cm
fitled up to & helght of 32 em with juice,
The juice is filed in cylindricul phees of
radits 4 om upto 8 heipht of § cin, How
fmany such glasses can be filed 7

T AW Wi s omat w1 e
0 b aw w12 W0 FuEoow
A vm g ¥ um W 4o Bew W
werrere fiemat o 8 & Sod aw wo
& oF R Fem W oo aw

€7
(A) 20 (B} 50
(C) 100 (D) 120
- [PT.O.
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113

‘(C) 1,

If P(%~2,-b) divides line segment
joining the points

B(8a, 5} in the ratio 3:1, then the values

of @ and b are -
ak ploa-2,-8), ﬁagaﬁ A{3a+1,-3)
qum b FE YA E -

{A}

(B) a=

(C) a=-1,6=-3

)

The twe oppesite vertices of a square are

(=1,2} and (3,2), then the coordinates |. -

of the other two vertices are -

{A) (1,0) and (1,4)

(B) (~1,0) and (-i,4)
(C) (1,0} and (71‘,\4) ;
} and {1

D) (-1, N2

wwimu‘rﬂﬁmhﬂ{!‘}m( 3 f:
¥ oA oS et & felis B

A (10) W (1,9)

.(B)(IO)@( )

) o (-L4)

{D} '(“1,0) gz (1,.54}

23] ==

T B(8a,5) W P a@ @S |
31 & arpae ¥ Pawifer wXer ¥, qoa |

18

114

A{3a+1,-3}) and

s

In figure £ X¥Z=64°

produced to point P. If ray Y bisect
then the value of ZXYQ is -

LLYP,

Pas & £ XYZ —64° T Xy ®fag P
TF qEr AT ¥ | 4 I v, £2vP
T qEiERE B b A% B £ X0

Colk: o

(A) 122°
(€) 116°

(B} 105°
(D) 3020

Sueeesive discounty of g% and g% are
eipuivilent 1o & disconant of

2% Y g% % FATT W P W &
R e 7

A (p +Q)%

® |p+ q—

+4-79),
© (p ;i}o J/

3

o) (P

[RT0.

116
and XY 15

117

‘118

119

() 97

T 4,000 was divided into two parts such
a way that first part was invested at 3%

and the second at 5% per annum. [f the
whole simple interest from both the: |

investments for one year is T 144, Then
the amount of the first part s -

T 4,000 W A oW § S RS S T
% e Wrml 3% S THT VIS S
gifiany =1 v FEn Reoy oma | oft
Tt FEn 7 o= gl o= ww end
? |44 7 ot g W o iR -
(A) T 2,700 (B T 2,800

(Cy ¥ 2,500 (D) T 2,400

A man spends 75% of his income. His
income increases by 20% and his
expenditure also increases by 10%, then |
the percentage increase in his savings is - |

TH @i S o Ew 75% W s |
¥ | amEn g 20% 9T =g 0% Seed |

¥, o e o9 whew gfg ¥ -
(A) 10% (B) 20%
(Cy 25% (D) 50%

The ratio of an external angle and an.
internal angle of a regular polygon is 1:5,:
The number of sides in the polygon is~

UF WY & UH G 9 0%

TS T HIURE 1:5 F | T F gamad

¥ W Y -
(A) 12 B 6
) 8 (D) 10

The mean deviation from the mean for
the following marks is —

o A i e i R B

37, 48, 50, 23, 47, S8, 29, 27, 31, 40
(A} 9.5 (B) 9.6
(D) 9.8

23] whe

Date 12.08.2018, FirstPaper(Master)
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The mean of 13 numbers 1s 24. If 3 1s

- added 1o each number, then what will the

121

122

| 123

new mean ?

13 wEmal w AT 24 ¥ OR v gem
¥ 3 9 fF wE @ T A wm -
(A) 24 (B) 21

(Cy 27 (D) 25

Velume of a cone 1s 16632 ém3 and
height 15 9 em. What is its base radius ?

{m=22/7)
{A) 36 cm (B) 42 em
(C) 49 em (DY 48 cm

@s@mm 16632 93 ¥ ofix
e 9 T ¥ gad oWt B B wr

E7 (n=22/7)
(A) 36 &9 (B) 42 &
(C) 49 & (D) 48 &

Volume of a cube is 12815 em’. What
is the area of cne face of the cube?
(A) 32 cm? (B) 16 cm?

{C) 40 cm? (D) 48 cm?

UH T W emaET 12842 w93 E
I & UH GOF H AAGH w7
(A) 32 2 (B) 15 =m{2

(C)y 40 o2 (D) 48 ¥H2

PQ is a straight line of 13 units length.

 If P has the co-ordinates (2, 5) and Q has

the co-ordinates (x,—7), thea the value

of x 15 -

PO TE il a1 ¥ Bradl war 13 =R
rafy frg P % s (2, 5) qw Q

Heum (-7 ¥R aBATE -

(a) -7 (B) 3

(€ 13 (D) 7

{PTO.



124 Which of the following peints lie on
x-axis 7

frafefas 3 ¥ &9 o g o8 W
R ¥ 7
(a2, -2
© 22

{(B) (0, -2
D) -2, 0)

125 If the co-ordinates of three vertices of a
square are {0, 0), (0, —4) and {4, 0), then
the co-ordindtes of its fOL{nh vertex is -
o o § dw o ¥ Préuem
(0, 0), (0, —4) T (4, 0) ¥, 99 7wk 9
it = Frdsis ¥ -

(A (4, 4 (B) 4, 9
© @4 O

126 In the given figure, if BDHRS”PQ,
CP=PD=11 cm, AR=RD=3 cm,
BD=x, RS=y, PQ@=rz then the ratio
of values of y and z is

feqg mg faw & =R BD|RS|PO.
CP=pPD=11 ®W, AR=RD=3 ¥,
BD=x RS=y, PQ=z W yadl z %
oA H I ¥ i

(A) 6:11
(Cy 1:1

23] e

(B) 311
Dy 1:2

20

(128

129

130

131

127 The diagonals of a rectangle 4BCD

intersect at O. If £ BOC =68°, then
LODA iz - 7

TH WA ABCD & REet O 1T ufireg
W ¥ 19 £ BOC=68° T@ £0D4

T -
(A) 45° (B) 56°
(C) 68° (D) 22°

How many straight lines can be drawn
thresgh four distimee nosr-callinear pojnt 7

= fom st figed @ feen Wl
Tard W o oy k7
(A) 2 (B 6
(C) 8 (D)lz

The single discount which is equivalent
to discount of 10%, 20% and 23% is -
T g (@) o) B 10%, 20% T 25%
W F g ¥ -

(A) 55% (B) 46%

(©) 54% (D) 45%

A 'sum of money doubles itself in 5 ycai's
at compound interest. It will be eight
times in -

{A) 10 years (B) 12 years

(C) 15 yaurs (D) 20 yeurs

s W Ui wEghs W @ 5 W ¥
2 ph oo BoLowe 8o W -
(A) 1w (B) 12 A

(© 15w N (D) 2097 7

21% uf a fixed. number is 28, then 15%
of same number is -

foh Prom wE W 21%, 28% I
dEm # 15% ¥ -

(A) 18 (B} 20

(Cy 21 (D) 24

[{PT.O.

132

133

134

135

(G 143

3=

The mtic of the lenyth and perimeter of

it roctangulir plot i8 1:3. What |2 the mto
of the length and hresdih of the plor 7

% SEAEN Wi ¢ W a9 aiEy
FSIIR 1:3F | vie A a8 Ui
S 7

(A) 1.2 - (B) 2:1

(Cy 3:2- (D) 4:3

log axlog bxlog,c is equal to
logyaxlog,bxlog, ¢ avm@my & —

(A) log abe B) abe

(}—

abc

(D) 1

The guadratic eguation with one root

(\E+2) wiil be -

-%maﬁmwﬁquasq\a(\/_u)

b

(A) 22 4245x+1=0
B) 2 —dx+1=0
(€)% —ar-1=0

D) 2 -245x+1=0

If'the sum of three consecutives multiples
of 13 is 390. Then secand mulnple of 13
Is -

af& 13%mﬁeﬁwmm!ﬂw3%
Booa 13w gm0 oqem ¥ -

(A) 117 (B) 130

{Dy 156
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21

136

137

138

139

Factorization of

[x2 #{a+b+chx+ ab+bc] is

[x2+(a+b+c}x+ab+bc] Enl

The square of 50005 is -
50005 71 = ¥ -

(A) 2500500025

(B) 250050025

(C) 2500050025

(D} 2505500025

The value of (857375)”3 is -

(857375)/% w1 W ¥ -

{A) 95 (B) 85
(Cy 75 (D) 65

‘Mohan bought two cows in T 30,000; By

selling one at a loss of 15% and other
at a gain of 19%, he found that the selling
price of both cows is the same. The cost
price of both the cows are - )

et % T 30,000 F & o whd s

B 15% W T -FHT W 19% =T i ded
et v B ds o w0 Rasw gee
R ¥ Iﬂﬂ’rmﬁlmmwt

(A) T 12,500, T 12,500

(B) T 15,000, T 15,000

{C} T 18,000, T 12,000
(D) T 20,000, T 10,000

[PT.O.
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The circumference of two circles are in
the ratio 2:3, then the ratio of their areas
is -

& g @ ofeh & e 223 B, i e

| gmedl woeEm ¥ -
(A) 2:3 (B) 32
() %4 (D) 4:9

141

142

1 cm,

‘A spherical ball of diameter 21 cm is
melted and recast into cubes, each of side.
then the number of cubes thus

- formed is -

21 A% = B uE g Ve W e

T qar 1 A Ry e | g e |

nm,aﬁ.s'amaﬁaﬁa?rm%.-
(B) 4200
(D) 4851

(A) 2100
(C) 4410

Which of the followmg palr of equations
has no solution 7

{A) x—2y=0 and 3x+4y—-20=0
(B) x+2y+1=0 and 2x+4y+2=0

(C) 2x-y=0 and x-2y=0

(D) x+2y-5=0 and 2¢+4y—12=0

ﬁﬁmﬂg‘ﬁlﬁ@!f&mg’qﬁim

Ty 8 ¥ 7

(A) x—2y=0 T 3x+4y-20=0

C(B) x+2y+1=0 T 2x+4y+2=0

(C) 2x-y=0 & ‘x72y=0

(D) x+2y-5=0 3T 2x+4y—i2=0

23 | whe

22

144

143 In figure, ABCD is a cyelic quadrilateral

in which 4C and BD are its diagonals.
If £ DBRC=55" and / BAC =45°, then

£ BCD is
&HﬁAB(‘D@ﬂﬂ?ﬂﬂ@ﬂﬁ%W

AC 3% BD =% P ¥ ) wft
£ DBC=55° AW L BAC=45°, T
ZBCD %
D
-
B |
C
(A) 100° (B) 80°
(C) 35°

(D) 45°

If AABC=A EFGrand AB=EF, then
the values of x and y are -

“uff AABC=AEFG TN 4B=EF T
xET y%? e % -

N

-y F
(A).x=l.,y:I (B) x=4,v=1
(C)'J.f:.l,.l’;‘1 (D) x=l,y:3.
[BT.C.

145 The co-ordinate of point p which lie on-

146

) .(A) [0,2} (B) (2, 0}
© (2.2 (D) {1,1)
£ 22222 then th g atbie
_3—5 7,tentevalueof
is -
a_b_c  atb+c '
MW 3735 W ¢ -
(A} 3 (B) 5
©) /3 Dy s

147

Sum of length, breadth and height of a

y-axis and distance of 2 wunit from the
origin {0,0) will be -
g p & FRE ST p-wE W Rum ¥

o e Ty (0.0) & 2 39W T W §,
0 -

cubeid is 20 cm and the lengih of its
diagonal is g.fg cm. Its total surface area
is -

(A) 216 cm?

(B) 616 cm?

(C) 184 cm?

(D) 246 cm?

% T H s, ﬁ?ﬂé T AR &
dr 20 Ak ¥ e geE Rt &
66 T ¥ | F gt gt @ e
¥ -

(A) 216 T2
(B) 616 d2
(C) 184 2
(D) 246 T2

- B 23

Date 12.08.2018, FirstPaper(Master)

148 If logy I:]og2 (Jogd x)] =1}, then the value

149

150

of x 15 -

ol logyg [lcgz (log, x)} =0, d x & 7T
5 _
(A) 4
(C) 80

(B) 8
(D) i6

Raj started a business with ? 37,500,
After somie time Unved Jomed the busines
with € 50,000, ARer one yenr they sharid
the profit equally, Find after how meny
monthe Umed joined tho buminess.

{A} 3 months °

(By 9 months

{C) 4 months

(D) 8 months

T A T 37,500 % €W 0F AR TR
fRar | g5 g9E s 99 T 50,000 &
T =R W i € T vE gl e
TEE T IER R ¥ 9 | vang
g fmr wEM S @ it gan
ar 7

(A) 3 9w

(B) 9 TIg

(C) 4 ME

(D) 8 =%

A man bought 3 toffees in a rupee. How
many toffees in a rupee must he sell to
gain 50% 7

tEEE N 16 43 AR wil o ae
1%, % feelt Al 49 fr =9 50% @
w7
{Aa) 1
2

(B) L5
(D) 2.5

[RT.O



